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B.Tech. YV Semester
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Computer Networks

Time : Three Hours
Maximum Marks : 70
Note: i) Attempt any five questions.
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11) All questions carry equal marks.
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iii)In case of any doubt or dispute the English version
question should be treated as final. .
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1. a) Explain Personal Area Network (PAN), Local Area
Network (LAN), Wide Area Network (WAN) and
Internetwork. Your answer should highlight key
differences between them as well. 6
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b) Describe TCP/IP reference model. List advantages and

disadvantages of using TCP/IP model. 6+2=8
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2. a)
b)
3. a)
b)
4. a)
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What is congestion d packets into the network for
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differences between TCP and UDP protocols.

r diverse aspects separately witls'l

Explain the
The answer should cove
a clear description.
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What is store-and-forward swilching and cut-through
switching? 4
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Explain OSI reference model with a brief description of
all of its layers. Highlight the critique of the OSI model
and protocols. 8§+2=10
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Explain Simple Mail Transfer Protocol (SMTP) and its

extension (ESMTP). ] 6
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What is File Transfer Protocol (FTP)? Briefly describe
FTP Connection, Communication and Cemmand

processing. 8
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3. a)

b)
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What is the diffcrence between broadcast and multicast
routing? 4
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For the below graph in (a), find out the shortest paths from
vertex J to all the other vertices of the graph using
Bellman-Ford algorithm. Assume that delayisusedasa
metric and that J knows the delay to each of its neighbors
A,I,Hand K as 8, 10, 12 and 6 m sec. respectively. The
delay vectors received from the neighbors of Jare shown
in (b). 10
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What is Token Ring? How it is advanced in Fiber
Distributed Data Interface (FDDI)? - 4+2=6
A Rz g7 7% HEaR RIS 81d T/ (FDDI)
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Briefly explain ALOHA protocol. Write major differences

between pure and slotted ALOHA. 5+_‘_i=g
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Explain the IPv4 protocol header. 6
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Given an infinite population slotted ALOHA system where
probability that the slot will be idle is 0.1. Considering
this scenario, you are required to calculate channel
throughput and discuss whether this is the case of overload
or underload. 543=8
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Describe error correcting codes. What are the problems
with the parity bit and how to overcome them? 3+3=6
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Explain Go-Back-N protocol. How link utilization is
evaluated with the Go-Back-N protocol? 6+2=8
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